What is the output Exercise
Exercise 1:  
#include <iostream.h>

int whatIsThis ( int [],  int );

int main()

{


const int arraySize = 10;


int a[ arraySize ] = { 1, 2, 3, 4, 5, 6, 7, 8, 9, 10 };


int result = whatIsThis ( a, arraySize );


cout << "Result is  " << result << endl;


return 0;

}

int whatIsThis ( int b[],  int size )

{


if ( size == 1 )



return b[ 0 ];


else



return b[ size - 1 ] + whatIsThis ( b, size – 1 );

}

Answer:

Result is
55

Function WhatIsThis is a recursive function that adds the elements of the array
Exercise 2:

#include <iostream.h>
void b ( int x )

{


static int a[5];


if ( x == 6 )  {



for ( int i = 0 ; i < 5 ; i ++ )




cout << a[i] ;



cout << endl;


}


else



++a [x];

}

void main ( )

{


b ( 2 );


b ( 4 );


b ( 6 );

}

Answer:

00101
Exercise 3:
#include <iostream.h>

void main ( )

{


char phrase [] = “You are the best”;


int cnt = 0,  cnt2 = 0 ;


for ( int i = 0; phrase[i]  != ‘\0’;  i++ )  {



cnt = cnt + 1;



if ( phrase[i] == ’o’  ||  phrase[i] == ’a’  ||  phrase[i] == ’i’ )




cnt2 = cnt2 + 1;


}


cout << cnt << ”  “ << cnt2 << endl;

}

Answer:

16
2

For each element of the character array phrase, cnt is being incremented, so cnt holds the number of character in phrase.

cnt2 is being incremented only if the letter ‘o’ or the letter ‘a’ or the letter ‘i’ is encountered in the array phrase.
